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No. of Questions : 150
WA @) HEr - 160

Time : 21 Hours ] [ Full Marks : 450
vy : 21 g7 ] [ qorfy: 450

Note: {i) Attempt as many quedtions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for eack incorrect ansiwer, Zero mark
will be awarded for each unattempted question. .
IRHRS wef B ve wor w1 S B wAE v 3 (#9) #ﬂﬁﬂir%_l AT
T O P ¢ U SF BreT wITTT) SoE SgaiNg e $1 s I
B

(i) 1f more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

o veTe dafors o WE o 9 Fee wha & @ feca w8 IR <
(iii) This paper comprises of three Sections : Physics, Chemistry and Biology.

Each section contains 50 questions.
7g e v el vt 1 & - ol e, TR REW W@ ol e e
gue 3 50 uvE £
SECTION - |
qrg -
. (PHYsICS)
(R farr)

1. The mass & dengity gfasolid sphere are measured to be (124 + 0.1)
(4.6 +0.2) kg/ m” . Calculate the volume of the sphere with evror limits -
(1) 27%0.1) m | Q). 274014) m3
(3) (27402 m @) (27 £024) m?

(3)

kg and

-

2 5



17UM15/16(Set-))

U BN e W S O] B HAE (124 1 0.1) kg @ (4.6 + 02) farar/ B &
TRl & IR W AT A, e dmy e

(1) 27401097 (2) (2.7 +0.14) %3
(3) 27+02) &3 @) (27 =024) A3

2. Whal is the percenlage error in delermination of time period of a pendulum

where length and acceleration due to gravity are measured with £ 1% & = 2%
errors 7

I (D 25% (3) 3.5% 4) 4.5%
e ool @ HETHE F MR Y waga g T e ol g o
TRl R ¥ PR e £ 1% T +2% 8 ?

(1) 1.5% (2) 2.5% (3) 3.5% (4) 4.5%

3. A thin wire has 3 length of 21.7 em and radius 0.46 mm. Calculate the volume
of the wire to correct significant figures.

(1) 0.1443 cm? ' 2y 0.144 em?
(3) 0.14em’ 4) 02cm’

Ve gae TR @ oW1 217 I 9o Bren 046 R ) o @ e @ e
FEFT. TA e afew! @ wet

(1) 0.1443 T’ (2} 0.144 ¥H3
(3) 0.1473 (4) 0.2

4. The dimensional formula for the coefficient of viscosity :
(1) LHLT 2] 2) [M"‘!.-T"]
o) [MrlT---E] @ |-
T 1JII|']'?&T &7 T A EAI

(1) KMLT'E] 2 fM"lLT—l]

(4) \Ml.‘l"rﬂ

(3) Lw: 1‘1'_1]
(4)
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- . o
5. A force F be acling on a body free to rotate about a point O and let r the

T].

\

position vector of any. point P on the line of action of the force. The torque

of this force about point O is defined as {§ - ] +6k Jx (2 +3] —} is :
(1) {177 +13] +5%) Nom

@ 17713} +5%) Nom

@ (17 13} +5k) Nom

@ {177 -13] - 5%) Nems

WEE.F,WWMWW%UHFWW$%QW%WET
5 g P # g0 ¢ ¥ fom w 90 sefka &) 30 g W o are 99-37 (1)
arfian 8 [f—f+6f)x{2?+3'f'-ﬁj:

(1) [—1?2’ +13}+5f:} -
(2 Qwi‘ -1‘3}’+5E)=~1‘c=rﬁm
@) (177 -13] + 5k) me=Aes

@) (177137 - 5) werrives

A ball is thrown upward [rom the ground with an initial speed of u. The ball is
at a height of 80 m at two times, the time interval being 6 5. What is the vaiue of
u, taking g =10 m/ sec? ?

(1) 15m/sec (2) 25m/sec (3). 4malsec (4) 50 m/sec

v A g A ARG I v gw s G T & e 80 dev 9 S w o
vl # e & forre AT 6 Wwve #1 g W 10,9 9 g0 o a7 A
C2l (LA :

(1) 15%/4 () 25 ®/% 3) 409/ @) 50%1/9

(5) PTQ.
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7.

Velocity time graph of a particle moving in a straight line is shown in the
figure. Which one is the corresponding displacement time graph of particle if

s=0Dwhent=07?

TF Wl v w e @ w1 e s ferger e 3 aft=0ws =0
&, e Ed v ey g SiE-ar 8 ?

v {m/sec)

t {sec) ?
S A
(L) 2
* >t
SN
{3) (4) M~
7 { Dt

A system is taken from a given initial state to a given final state along various
paths represented on a P-V diagram. The quantity that is independent of the

path is: A

b
-

ki

f

(1) Amount of hieal transferred, Q

(3) QbutnotW

Vv

SR —

{2) Amount of work-done, W

(4 (Q-W)
(6)
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T e urefve saen § sfkw sEen # g9ga el @ @ @ w6
%Iﬂ%’ﬁﬁ?ﬁﬁwﬁwﬁﬁhﬁfaﬂﬁr%:

£
P >
: > f
wOE o, vV _ ?
(1) HT RITAFEROT B A= Q (2 2 T w F oA w
(3) Q&f W 4) Q-W)

. When two samples at different temperatures are mixed, the temperatﬁre of the
mixture cannof be :

{1) Lesser than lower or greater than higher temperature

(2) Equal to lower or higher temperature :

(3) Greater than lower but lesser than higher temperature

(4) Averageof Jower & higher temperature :
ST <) I T W e o 4, @ B @ am T8 @
(1) g7 & 59 R Ifwan & afs

(2) =gaW o7 e & wWREY

(3) Iaw @ aftw AT aftrwaw F By

(4) ~pToe st sftree oo

. Yor a surface molecules -

(1) the et forceon it iy zevo.
(2} there is a net downward force

(3) the potential érérgy is fess than that of a molegyle inside
(4) molecules are in vapour state ”

7% W IR ] & forg

(1) T R A 4 @1 99 I B

() o@ 7@ 9 B AR wm

(3) ety Sol A1 A I=R B v 3 g F 79 @
(@) <y T Raf & Fm

A PT.0.
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11. A sateilite is revolving around the planet. The gravitational force between them
is varies with R where R is the radius of the satellite. The square of the
time period T is directly proportional to :

U SU¥E B ug @ ofteem FR W@ § 99w 4 Therwdw wW RTG @
FTFUHAR & R R wem @ e € Wl ogwn § ofew wme T @1 gt
1) R’ @ R7/2 (3 RY? @ R

12. Torareal gas (Vander Waals' gas), which one is true ?

(1) Boyle's temperature is A (2) Critical temperature is 2

’ Rb Rb

: .2 : .
(3) Triple temperature is W (4) Inversion temperature is

daietf@ar A (orey gt N @ [y 6F s s 7

{l]mﬁﬂm%-iﬁmﬁ (Z}ﬂﬂﬁﬁiﬁﬂmﬁ%ﬂ?ﬁlﬁ
ISJWW'%WQ‘ | .{4}?-'3,&7‘11131611?&% g 2

13. The satisfactory theory of Brownian motion was invented by :
(1) Brown (2) Carnot (3) Einslein (4) Maxwell
g TR @ HomaeE fag B g e &t
(1) & (2) FHE (3) SM~HC (4) Heuds

14. The ‘normal mode of vibration for the given spring system may have the
frequency :

fae;naﬁmﬁtﬁmﬁwﬁmaﬁ%maﬁmﬁ-ramﬁ%;

—w L

e 2 k
1 i 1 [X T
1 .H.'_. e ) = 4} 27 J—
M e\ @ Eﬂ'i‘Em ® =V & Vi



15.

16.

17.

8
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Calculate the work-done by the gas during the complete cycle ;

o g ¥ d g v o &R 1 fAawm @ r

T
A B]i
Pressure
o
0 i :C
| o
Vu 21!‘0 <
Volume >
‘ ' Pﬂ‘-"n ' P, |
0 R (2) 2RV, (3) = @) BV,

Two thin lenses havmg optical powers of -12 D and + 8D are placed in mntaci
with each other. The focal length of the combinatien is :

(1) +025cm () —025cm . (3) <0.25m (4) -025m

*lzwﬁﬁfﬂm+am$ﬂmaﬁﬂéﬁﬁmmﬁmmw
2| T9 AU @t W g8 B

(1) +0.25%d0  (2) -0.25 9 (3) +0.25 0 (4) -0.25 %o

How focal length of a convex lens (refractive index 1.5) dlanges when I 1$
completely immersed in the liquid (refractive index 1.65) :

(1) convex lens with same focal length

(2) convex lens with less than earlier focal Tentte
(3) convex lens with greater than earlier focal length
(4) concave lens with changed focal length

gﬁﬁ%ﬁ? 15}%&{%165}#@@?@%1%%

(1) ST &% WO Wi g9 @
(2) S99 F T DIHH T TS B g A
(3) e ofF W Biew gN TR @Y o H

(4) Fraael o IEA BG Wl 5

In Young's double slit expetiment, the expression for fringe width is

m%%ﬁﬂem—rﬁﬁmaﬂ%@ﬁmi .
d . :
Wit § 2) B=—r =M
(1) B 5 (2) B . @ p=1 = () Baﬁ&'
(9)

PT.0.



17U/115/16(Set-))

19.

20.

21,

22.

In the minimum deviation case of incident light, which is the path of refractive
ray in the prism as in figure ?

WA M SRS YE @ aretReen @ g i W1 uafoa & & < § 7

‘h;ormaf B

(M1 2y 2 {3) 3 (4) 4

An electric llux (§) emerge uniformly in all directions out of a positively
charged conductor. If this conduclor is enclosed into a large metallic sphere
(container) the electric flux (§') emerging from this metallic sphere can be
expressed as : *

UF gTere o wed @ dea wored (g) wed w9 H el Ruel § el g
81Ul g Ads @ e 92 g id § v fRmrowe @ e 8 e 2=
FART (¢ ) BT AT B

(1) ¢ =10 2) Q<d <¢ {3y ¢ = ¢ @ o=

Which of the following results "in free space” is expressed in the units of
Coloumb 7

e & Q) [pa®T TIF WO W ¥ hew & 9 § wag f o §

(1) n{gﬂ . ;o (2) ﬁf.ﬁ&:
5 —
(3) [{B,g{! (4) nﬁD.ds
The [haracteri.stic impedance {zy) of free space is;
(1) 377 @ (2) 357 (3) 100G (4) zeroohm
Tl & eneme AR (29) B &
(1) 377 Q @370 ®we @) g s

(10)
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24,
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The Q-factor of a coil is the measure of its -

(1) mutual induction (2) self induction
(3) retentivity (4) selectivity
felt graeh =1 Q- R # & R s & 2

(1) o=y IRFa o - {2} WIRGE

(3) wrorerer (4) gETeiern

The grid of a triode affects the plate current in the following way :
(1} increases plate voltage '

(2) neutralises space charge

(3) enhatices thermionic emission

(4) releases more electrons from the plate _
e # fire, W Regw ur o B @ & il avd) 2

(1) 9 &1 I TeTav

(2) =R s o AeeniE we

(3) TS TR T

(4) = % 3P ety Rem we

Curie law 4 T = constant, relating magnetic susceptibility (y) and absolute
temperature (T) of magnetic substances is obeyed by :

(1) All magnetic substances

(2) Paramagentic substances

(3) Diamagnetic substanees

(4) Ferrons

@ g T = fomis, g gaei 4 FERA YR () Ton genem (T) &
R E O R, T o P & g e o @ - :

(1y ¥ g qent

(2) s et

(3) wftrgraaiiy g

(4) W=

The average energy of the dlassical oscillatar is -

fiRwsm difers of ot wwf &
1 . 3
(1) kT {2) EH D ) EH @ gy

(11)
P To;
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27,

28.

29,

30.

Urder the influence of weak magnetic field, normal Zeernann's effect might be
exhibited by :

FARR GRS 87 D Jur F, T o e e g s s e e

(1) H ' (2) He {3) Na () K
The de-Broglie Cxprc:a'-‘.jnn 15

Sl-FTE Tr TP 8

(1) p=l @ p=t @ p=7 @ p=h"

What is (he temperature of sink if the efficiency of heal engine is 50% and Il
takes heat at 0°C ¢ :

Rig @ wn wvam ern, afs 8T S0 oY e _‘E‘h%ﬂ"ﬁﬂ'ﬂ%fﬁﬂ{‘ﬂﬁﬁi WEE?
(1} 137°K (2) 137°C (3) 273K’ 4 0K

Graphs which show how olectrical resistance varies with temperature for
mel-n]]ir; wire & carbun ?

LD L N

Mectal arl:n::rl Carbon
A R R K ;
—>T > 1 #T F il
Metal ’ Carbon . Metal Carhon

a@aﬁaﬂaﬁmaﬂﬁﬁ%@mmﬂﬂ%@mzﬁéﬂmﬂwﬁaﬁﬂﬁm??

PE\_,TZW L \\

w@m

: mﬁ?ﬁ i
7. W (12)
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31. :ﬂ.’hir:h one show the variation of relative intensity of X-rays as their wavelength
A)? | '
W-Wﬁﬁﬂmﬁﬁmwuﬁaﬁqaﬂﬁ-@mﬁa@w% ?

I . I
i A 5 V
: >3 . - > A

i I

3 M @
- - > A

— A

32. Fromn =3t n = 1 energy level of hydrogen atom, which one is correct
representation of emnission spectrum ? e :
BRI W B S R n =39 n =1 ¥ SO WagH # - B a8
fvfte s & 2 .

i

=43
n=2

. |
n
Py
(=)
I
i
K==
5 !
il
—

I H
— K
=
r ]

RN

A

K

¥

:
= Ao
I il n
s 2

83. A parallel plate capacitor whose plates are 2.5 cm apart is charged ¢ tential
difference of 100V, The force ot E’“tm.CquEmdihgwe;atﬁs :Ijt::i
far ax st Rew @rm | ofeeamt @ @ ¥ e s
R A aAr . T |

(1) 04N ) 05 N ) 004N ®-0.164 N

(13y 7
PT.O
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34.

35.

36.

37.

38.

39.

if £, and E, be the encrgy values of valence & conduction levels of the
materials, then the value of Fermi-energy level will be :
afy E, dwr E, ygell @ WIS "l g9 ool W T ol A A, o ) F

(1) EF=(E“;£‘“" @) E;=|Ef—;£—ﬂ @) Er=JEE, (&) Ep=2L +E,)
. A

\

Electron hole pairs are produced in intrinsic semi conductor oy :
(1) Emission (2) lonization

(3} Doping {(4) Thermal energy
SoETe-ETd TR B SUTEA qA JATAF T Een B

(1) Scdul & (2) FTERTERE ERT

(3) s gw (4) Foha Ea EN

Pair-production & pair-annihiliation are taking place at the energy value :
TTH-GTIa- ol Q_Tﬁrﬁ:lﬁl?ﬁ. 7 & &g 91 oY Bt & ?
(1) eV (2) KeV (3) MeV (4) GeV

Current in the semi-conductor is produced by :

(1) electrons only (2) holes only

(3) ions only (4} electron & holes
FeiTes ® ERT S B0 §

(1) Pasd FoEge &M (2) ®ad B G

(3} HId WEF g (4) g T Bl T

Which one is the expression for law of mass aclion ?

B w1 P oy wies g Ffia e S € 7

: 2 2 2
, ] - j, 1
(1) H:’f =20 {2) n, L (3 i, = Jl'_ (4) n, =t
g Hy ny i

'Pure Si at 400 K has equal electmné & holes with value 1.5x 10" m 3 Doping

by phosphorus increase 1, 1o 4.5x10%2 m™>. The doped semiconductor is of :
(1) n-type with hole concentration, My, =5x 10°m™

(2) p-type with hole concentration, r = 25x 100 m™
(3) n-type with hole concentration, 1y, = 25%x10%m™

' : 22, -3
(d) p-type with hole concentration, ny, = Ay 10 m

(14)
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41.
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400 K W ¥g Si § e 7 # gt dor @ 1.5x10%m Y 8| ohera @
BT T W e & 9 g 455108 m ™ # | S aefwew &

(1) newEs, ny =5x107m™ ¥ wE @ W |

) peEY my =25x100m™ gt wrsor & W

(3) nTEA, my =25x10%m> 7 v 3 Ay

(4) p-eIgT. ny =5x102m > gt g @& ww

A 100 W bulb works on 200 volts and another 200 W bulb works on 100 volts
for their normal wnrlfing. Then the ratio of resistances of 100 W bulb to that of
200 Wbulb is :

¥& 100 ¢ @1 Feg 200 diec 9T AT ST 200 o1e @ wem 100 Aee W wmd wran
81 1009% & aoa @ ARRY @ 200 91 de5 @ e W e &

(1) 2-1 (2) 4:1 (3 8.1 {4y 1:1

In a half wave rectifier which wave 5hape is a relatively high level of accuracy
when cut-off voltage V, << ¥, 7

e freard 3 ofe: deeer @ FeR FTE Sw WY A YEa ¥ ve 5
1% AT V, <<V, |

Vo

(1)
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42,

43.

44,

45.

1) 1189

If length of emitter, collecter and base are g, L and Ly respectively in the
transistor then which is correct relation among it :

R TH IRRER @ e, WIS AR AMR B =g B Ly, Lo S Ly ®
Eﬁ“ﬂﬁﬂ%’"‘lmb;

(1) Lg=Le =Ly (2) Lp< Lo <Ly

(3) lp<Llp<lLp (4) Ly< Lp < Lp

What will be change in acceleration due to gravity when earth shrink by 1% Lo
its radius ?

(1) -increased by 1% (2) increased by 2%

(3) decreased by 1% (4) decreased by 2%

% A A By 1% ok @ wik, W SEw S@HiF T8 X8 8 g T W
oty wNT ¥ gRET B

(1) 1% 98 ST O {2) 2% 4E WA

(3) 1% ¥ SR (4) 2% ¥ SRRT

The voltage across 10 LF capacitor in the circuit shown in figure is :

1G;LFmﬁfiE%aﬁ-ﬁiﬁ?%aﬁmﬂﬂﬁw#ﬁﬁmm
gV =

10 uF == 2R

o —_I'ZU},LF

== 20 pF

1) 45V {2) 9V (3) 3V 4) 6V
Equivalent resistance of the network shown in figure is :

Ry 1 R T ORT B HAGE Hiawe e

5.6 01

100 100
(2 59Q (3 92Q (4) 1840

(16)
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47,

51.
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The radicactive reacﬁan'gn‘f'hlm——:- SQPE:*?":'E tha+4f+v is known as the
series :

(1) Thorium (2} Neptunium

(3) Uranium (4) Actinium

AR AR o5 TH? —s P28 460+ 43 +y 5T A0 B w9 F
WY

(1) o ' (2) gl

(@) g (4) fefrm

Which gate is a Universal Gate (logic) 7

AT W T 3 § 7 ,

(1) OR () AND - (3) NOT (4) NAND

Radix of binary number system is : J
TIER) THEA GGl @ ey g &
11 2 2 - 33 4 4

How many minimum number of satellites are required  for the Global
communication ? - : '

TAoed Hur & fofy e Haw Sewsl Y o snavawar @ 2
2 2 3 (3) 4 . @5

The order of the frequency of the sky wave is normal COMMunication :
VRS FaN # oW T A gy gy ek AR

(1) MHz (2) Kz (3) GHz (4) THz

SECTION - Ii

© g -l

(CHEMISTRY)

)
The particle size.in a colloidal solution ig ; .
1y 1A-10A , (2) 10A- 2000 4
(3) morethan 2000 A (&) less than 14
(17)

PT.O.
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Pegea fAaas § $u & FHN o 8 -
(1) 1A-104 (2) 10 A - 2000 A
(3) 2000 A 31 i (4). 1A #7

52, Of the [olluwing ions, which has the smaliest radius ?

foprfarfeng snentt 3 e wad o1t fram & 2

(1) K” ) Ca~" (3) Se 4y R
53. The molecular geometry of thionyl chloride is best described as :

(1) trianguiar planar (2) T-shaped

{3) tetrahedrai (4) trigonal pyramidal

ot FARTES @ AEE vuifHf W vy § & B

(1) Pamia o= (2) T-3TFR

(3) ToeEd (4) Frfla s

54, Which of the following is the major product of the reaction ?
Pl @ wREs @ gqe SWTE BEAT E 7
1. LiAlHY

CH3CH,CHoCOH -—J——l-—jw&{excess)
244900
() CHACligClHCH0H (2) CHACH,C =CH

§5. For the reaction A + 8 > C+ D carried out at constant temperature, the

following data wure obtained :

[A] : [B] Initial rate

6.1 0.3 15x107 4 Ms !
02 . 0.3 30x107 Ms
0.2 06 12.0x 10~ s

The rate Expresﬁ’iﬂn for the reaction 18-

() k(AL +1BD
o KA

@) k[A][B)
() KAJB

(18)
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60.

17UM115/16(Set-1)

; ﬁﬂ?WWHﬁﬁTﬂTA+B+C+D-$ﬁWﬁHﬁ#@ﬂ3fW$ﬁWWZ

[A] [B] wRfen @

0.1 03 151074 Ms !

0.2 | 0.3 . 3.0x107*Ms ™

02 . 0.6 12.0x10 " +Ms™!
Al & fre Y vengdery 2

W RUAIAB) @) kAIB @) MARBL @) HATBE
Co - 60 can be produced by the bombardment of Co - 59 with :

(1) neutrons ~ (2) alpha parlicles
{3} beta pariirltles: (4) gamuma rays
Co- 60 PT F7aRY gRT WG 921 o1 e &, Co - 59 T -
(1) ~ghe @ \ry (2) UeH B @ |
(3) B welt @ e (4) T faon & arer

Of the following which one has the lowest melting point ?

e 4 % et Pran Teies # 0

(1) HC (2) CCly (3) SnCiy (4) Ag({
Of the following which one has the lowest electron affinity ?

e & 9 fomrsT oo a9 AL (WA 2

(1) F 2) Si @ o (4). Ca

Cork is a colloid of :

. (a) solid in solid o (b) liquid in solid
{c) solid in liquid : (d) gas in solid
T HeTSe 7 ,

(a) wifers & wifg @ (b) wifoe ¥ fufrs
() ffims # vt - (d) wifere ¥

In which mode of expression the concentration of 4 solution

independent of temperatre? s
(1) molasity @) no™Mality  (3) formality (4) molality
() geRd () AR () wiaferd @) "’fﬂ*%e"f

f4g)
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61,

62.

63.

b4,

65.

The number of nodal planesin a p_orbital is :

(1) zero (2) one (3) two (4) three
wpra‘ﬁwﬁm‘ﬁ?ﬁaﬁﬁm%:
(1) = (2) U&H (3) =T (4) &

Which H-like species will have the same radius as that of Bohr's orbit of the H-
atom ?

Py H-omed Wi o 9h a9 § Ol H-yed & g diffde & 8 7

() n=2 He* * @ n=2 B (@ n=2L" @ n=3 L%
The temperature at which a real gas obeys the ideal gas laws over a wide range
of pressure 1§ :

(1) Critical temperature @ Boyle temperature

(3) Inversion temperature (4) Reduced temperature

g8 ¥l & WIR W Témmﬁwﬁmﬁmmﬁiﬁmwﬁwmumﬁmﬁ%,
L

(1 fEfema amm= (2) dToe arHE

(3) FHEerT WA _ (4) TrsyTS T

The ralio of the rate of diffusion of the He and CHy under identical conditions

of pressure and temperature :
warg oy amET B argdfewe wedreeA & efara He AR CHs & Ruyge ¥ &1

I B
(1) 4 (2} 2 (3) 1 | (4) 05

For the chemical reaction

3X(g)+Y{g) == XY (@)
ihe amount of Xz¥ at equilibrium is affected by :
(1) temperature and pressure (2) temperature only

(3) pressure only (4) temperature, pressure and catalyst

rrfas A IX(g)+Ylg) = XaY@) F v sefelfimd W X3Y @ "=
1;['+T|,ﬁﬂ.ﬁ gﬁ % .

(1) R IR A

¢2) WHTG‘H‘F[QTQT

(20)



 17UM115/16(Set-1)

Which of the follewing solutions will have pH close to 1.0?
fot & & Fopw S o1 pH 1.0% wdg & ?

(1) 100 ml of 0.1 M HCI + 100 ml of 0.1 M NaOH

(2) 55ml of 0.1 M HC! + 45 mi of 0.1 M NaOH

(3} 10 ml of 0.1 M HCI + %0 ml of 0.1 M NaOH

(4} 75mlof 0.2 M HC! + 25 mi of 0.2 M NaOH

- . The elevation of boiling point of a solution of 13.44 g of CuCly in 1 kg of water
using the following information will be (mol. wt. of CuCly is 134.4 and
ky =0.52bm71) 7 '

g
P S T SR gQ 1 Kg T ¥ CuCl, @ 13.44 ¢ @ wiegrE & oeleA
AT ST AT BT (CitCly 7 SigeR. 32 134.4 3R &y =052 k™) :

(1) 0.16 (2) 0.05 (3) 0.1 4) 02

The standard reduction potentials at 25°C for the following electrode reactions
are : S

Fret golagrs i & fard 25°C W Wed deavm U &
Zn*"(ag)+ 2¢” = Znis)-0.762 Cr'* (ag)+ 267 == Cr(s)-0.740
Cu®*(ag)+ 2e™== Cu(s)- 0.434 PP @)+ 2 < R ag) 070
Which is the strongest Ug'idizing agent?

T G el ol B &

(1) zn®* 2 cr @) Cut (4) £

The value of log X for a reaction A = B is (given _afHSgB k =-5407 kj mol !,
AySoonx = 100K, R=8314 JK ol 2308 X 31a % Masrn).

@ S A2 BB Revelog 1 ¥ (R ArHY <5007 4] o

298
AfSogar = 10JK ™Y, R=8314 JK mol™! 2,303 x 8314 x 298 5705) :
) 5 2) 10 (3 7= - @ 100
The rate of physisotption ingreases with ;
(1 decrease in temperature ") NGt s ermpegature
e ssigs #h Presiire (4 decreasein surface arey
(21)

PI.0.
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7,

T2.

73,

14.

75,

76.

7 5

Ye offm forfEidT ggar ¢

(1) 97 wed & Ay (2) A g @

(3) 3979 wed & T (4) TRHAE TR Wes & T
Which of the following has unpaired electron (s) ?

fe i Roere e geT R 2

(1) Ny ) F B3 0 (4 0F

L"u"hic}‘l of the following has — O — O - linkgage 7

Fre 7 9 filmms -0 - O - fofdat & 7

) Ha5,0, (2} Hj50;, 13) Ha5904 {4} H4510
An aqueous solution of Na,5;05 on reaction with Cly gives:

Notg$,05 1 TRy Sifeqer Cly @ T SHffdan e oy &um & o

(1) NayS40, (2) NaHSO, (3) NaCl (4) NaOH
The number of P - O - P bonds in cyclic metaphosphoric acid 15 ;

(1) zero {2) twa (3} three (4 four
WEfiow FomEERE e ¥ P- Q- Pdfg 9l v g

(1) = (2) a1 (3) 9= (4) AR

Me,SiCl, on hydrolysis will produce :

Me, SiCl, Trgsfeitie X IET= H €

(3) [-0-SiMe, -0-], (4) Me,SiCH{OH)

When MnQ, is fused with KOH, a coloured compound is formed, the product
and its colour arg :

(1) KaMnQy, purple. (2) KMnQy, purple

(3) Mny0y, brown ~ (4) Mns0y, black

i MnQ, @ KOH & sy v foar S 3 F FEe HHNTE AT 2 g
(1) KoMnOg, 9T (2) KMnQOq, 371

3) MO, 0 (4) MnszOy, B
Jﬂ.mﬁng the following ions which has Il.he highest paramagnetism ?

%Hmﬁiﬁﬂﬁﬂi@mwﬁ%?
0 ook @ Fl0) ] @ loton P @ Pataond

(22)
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B2.
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A solution when diluted and boiled gives a white precipitate, on the addition of
excess NH Ol NH OH , the volume of the precipitate decreases. ldentify the
precipitale which dissolves in NH4CI| NH4OH

TS Wieggy 1 O sRege ol diae R @ & 9 te wey IRffide ¥ R
aatrmm NH4CI|NHiOHa?TITEﬁiﬂTE1ﬂT§ﬂT vifiee @1 aegE ge wRn B
aﬁ? gm‘:ﬂa i B1 NHCHNH,0H # f§ames 8 o/ o d¥ifiee o
(1) Zn{ﬂH]z (2) AlOH), (3) Mg(OH)y (4y Ca(OH),

The compoiund insoluble in acetic acid is :

(1) calcium oxide (2} calcium hydroxide

(3} calclum oxalate (4) calcium carbonate

vHifes e 4 gicgge wmgvs ¢ ;

(1) #fewmw sifgags (2) dfeaan selwass

(@) dfwm dfe (1) #Em e x

lsomers which can be interconverted through rotation around a single bond
are:

(1) conformers (2) diasterecisomers

(3) enantiomers k4) posilional isomers

v Rie de @ w-fd RwT @ gm BF o 3 goverede R W
waoT & o8

(1) wpta {2y erpefaingarm
(3) FIFERin “ (4) e smeam
Which of the following will have'Tésst hindered rotation about the C — C bond ?
(1) ethane L e (2) ethylene
(3} acetylene - (4) hexachlerg ethane
frferaa A A @ C-Cdive & waiu § &9 ¥ 39 Geemr afdg gy 2
(1) 594 (2) gargeiy -
(3) WIERE . (4) TTHEART $9H
An enantiomerically pure add is treated Wlth r&(.‘EIﬁiC mfﬁ;l;_r
having mwmm rmed will be : ®ofan aicohol
(1) optically acove mixh E t ) pure Enanl'inmm_'
(3) meso competiTT (4)_racecnic qixture
1’ 23)

P.TO.
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85.

86.

 TeREes) Wi 3, T e wEe ar qa?aﬁ % s Qe & e
v amar 81 g%ew @

(1) afftemel vfaes Ry (2) X TEAFEEE
(3) &= Afs ~ (4) fafies Fao

Hyperconjugation involves the overlap of the foliowing orbitals :

PRl aifiéces & aiieedy 3 SEURBIITER AT & -

1) o-o . D o-n (3) p-p (4) - m
1-chlorabutane on reaction with alcoholic potash gives :

(1} 1-butene (2) 1-butanol (3) 2-butene - (4} 2-butanol
1-FARE Teptafore diem ® g ETCIR

D I=gdw - (2) e @) 2 (@) e

Identify from the following reagents, the one which can easily distinguish
between 1-butyne and 2-butyne : '

(1) bromine, CCly (2) H,, Lindlar's catalyst <
(3} dilute H,504, Hg50, {4) ammoniacal CuyCly solution

frafefag # 9 99 aFade o SefT F arnd Q) LegeeT T 2-dEd &
9 IR TGS

(1) §M.CCHy @) Ha,fead I8k
(3) @ H,50,, HeS0y (@) smfwa CuyCi, O

A solution of (+) - 2 - chloro - 2 - phenyletharne in toluene racemises slowly in
the presence of a small amount of 5bCls, due to the formation of

+ (1) carbaron 2y carbene  (3) freeradical (4) carbocation

ShCl. @ FE A @ mﬁuﬁtﬁa@ﬂﬁ{} FARI - 2 — BT B
ﬁa‘qam%ﬁﬁﬁwﬁmﬁh‘i o @ vigw B PR ¢

f.ﬂ cpi'l.fﬁl‘ . {2:1 Eh—lﬂ_'f {3} LEE] Q’%Eb_-;—r @) e
Diethy] ether on heating with cone. HI, gives 2 mul of .
(1) ethanol ) (2) iodoform

(3) ethy} iodide (4) methyl iodide

Wéﬂﬁﬁm H?a?“ﬂmfrﬁ"'*’ﬁ? a1 a8 g 2 mol 217 ¢
\ (2} ang2wid @

(4) oA gEEs o
(24)

() grie
(3) TR ST
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Phenol reacts with bromine in CS, at low temperature to give :

{1) m-bromophenol ’ (2) o-and p-btomophenol
(3) p-bromophenol : (4) 2,4, 6-tribromophenol
CSy ¥ Bt am 7 Wt BB ey B e 2 ¢ . '
(1) m-aRGHI ' {(2) o- T p-AEHETE

(3) pEFETa {4) 2,4, 6-TEARBHI .

In the redction- of p-chlorotoluene with KNHj in hquld NHj3 , the major
product is ¢

(n nrtﬂlmm (2) m-toluidine  (3) p-toluidine (4) p-chloroaniline
%9 NHj H, p-aaRICifes @ KNH, @ wer fimm ¥ owa Searg 81 -

(1) o-Tiged™ (2) m-teda (3) p-giggd (4) p-FERITAA

Benzene diazonium chloride reacts with phenol in a weak basic medium to
give

(1) diphenyl ether  (2) p-hydroxy azobenzene
(3) chlorobenzene (4) benzene |
e ey wew F 90N SRS wivse, Wﬂ‘r’mﬁmw&m
(1) sgdfa Fem Q) p-EEE TR
(3) TeARTASH (@) ¥

When acetaldehyde is heatecl with Fehling, it gives a precipitate of ;
(1) Cu (2) €0

(3) Cuy0 (4} Cu + Cus0 + Cu0
mﬁ%ﬁ%ﬁwnﬁmﬁ Al T AT AR

(1) Cu &1 : . | @) Cu0 =1

(3) CupO @ (4) Co -+ CuyO + QuO 3

A mixture of benzaldehyde and iorHMdehyde on heatin

g with aqueoys NaOH
solution gives :

(1) benzyl alcohol and cadium fﬁrmate
(2) sodium benzoate and me

(3) sodium benzoate and ;.pdmm formate
(4} benzyl alcahol and methyl alcohg]

(25)
' PY.O.
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soffeeerse dm wiieass & Ay o Wiz NaOH s & w9 ™ @e 5%
_E:YT[ 4
(1) dfret TowTEd qu TR Bri
(2) WrETw dWge gen AE TewTEd
(3) W dive don Wfemd Bife
(4) AR TebIEe ool HfUe gemsd

93. Acetamide is treated separately with the following reagents. Which of these
would give methylamine 7

(1) PCls (2) N«OH +Brs

(3} Sodalime (4) hot conc. Hy50,

PrafRea e & w TR Jor-gores s e i a GRS

gm ?

(1) PCls (2) NaOH +Bn

(3) HASTEH (4) T T Hy804
94, Extra pure N, can be oblained by heating : !

(1) NH; with CuO (2) NH;NO;

(3) (NHg),CnOy (4) BalN3),

fres 7y T e, slfaRlEn U@ N, @ A fFa I Gl

(1) NHy @ TG0 | (2) NH3NOy

(%) (NH ) (07 . _4) Ba(N3),

95. Geometricel shapes of the complexes formed Dy the reaction of Ni%* with C1,

N and Hy0 respectively are :

(1) octahedrals tetrahedral and square planar

(2) tet\:ahedl'ai. square planar and octahedral
. are planet; tetrahedral and ectahE‘i,l‘al
(3) sq

} ctahedral, square planar and octahedral
(4} O Lo

(26)
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Ni** @ | Cl, CN™ @1 H,0 @ frar grr o difirst & vafddt stor 797
g

(1) SMERTERT, TR HUT R W

(2) CRTERE, WRRR @R a0 sifrcega
(3) TR SR, TgREe oo st
4) HERFA, FEARR ©FF T ARy

Passing H,S gas into a mixture of Mn2* , Ni%*, Cu®™ and Hg?™ in an
acidified aqueous solution precipitates :

(1) CuSand Hg§ {2) MnS and CuS

(3) MnS and NiS | (4) NiSand HgS
el wrelr frer ¥ MrF* i, Cu ar Hg?™ & Bt § H,6 @
wafda 8 uv age W% B -

(1) CuS e Hgs (2} MnS T Cus

(3) MnS wur NiS - (@) NiS @on Hgs

The pKa of aspirin is 3.5. The pH of gastric juice in human stomach is nearly 2-3
and the pH in the small intestine is. nqa.tl}* 8. Aspzrm will be :

(1) unionized in the small intestine and in the stomach
(2) completely ionized in the smalt intestine angd.in the stomack.

(3) ionized in the stomach and almost unionized in the small intestine.

(4) ionized in the small intestine and alriost URToldzed in the Stomach

oRaRT @1 pKa 3.5 81 7 s (e ) & Mg 9F 31 pH 2-3 B sma
mwﬁpﬂwsﬁmﬁ'ﬁﬁm d el

(3) e % ST TSI o ¥ =gy e

@) o) -arfer ¥ Sy au HHRR, # e ﬁmﬁﬂ?ﬁixg

(279,
PTo.
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98. Equal weights of methane and oxygen are mixed in an empty container at 25°C.
The [raction of the total pressure exerted by oxygen is:
25°C WY U W s ¥ THPIR % e g siieiem ® fAide (bar
HRTAT g4 A T4 F Y A0
1 1 2 273
(1) —

g =~ ¥g 55

99. The electrons identified by quantum numbers # and i :

daicH TR p oy | g ey efemEs SRanTE
(i) n=4,1=1 (i) n=4,1=0
(iiiyn=231=2 - (i)n=31=1

can be placed in the order of increasing energy as
qed §U Sl @ HW § @ A Gl 8
() v < i< iii < @) iiciv<i<ii
(3) 1<ifi<ii<iv (4) ffi<i<iveil
100. The methods mainly used for the extraction of Pb and Sn from thewr ores,
respectively are:

(1) self reduction and earbon reduction

(2) self reduction and electrolytic reduction

(3) carbon reduction and self reduction

(4) cyanide process and carbon reduction

pi e G @1 TS NTEDI P o forg weaas wyd Rt e €
T a FHEAA IFTHTT

{3" aﬁa{qﬂq@-}l'&rw
WMWWW
(28)
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SECTION -l
e -l
(BIGLQGY)

. (o famms)
Which of following is the correct pathway of absorbed water in the root of
plants ?

(1) Soil water — raot hair cell —+ cortical cells — pericycle - passage cells —
xylem :

(2) Soil water —» root hair cell —+ passage cells — cortical c:eIls — xylem —
pericycie

(3) Soil water — root hair cell — penc}rde —% cortical cells — passage cells —»
xylem

{4) Soil water —root hair cell —» cortical cells —» passage cells —» Peric}fcle -
Xylem

?ﬁ#ﬂﬂﬁﬁ-ﬁﬁi&mﬁ% hﬁﬁﬁﬁtaﬁaﬁmmﬂwaﬂw%mw

?

(1} 920 W& —» T S - Fiidea FRE » NeaEes - B9 *f%m o

TN (A7),

{E)WWﬁwm%mﬁmﬁmﬁmﬁww
— URETEEE

(3 Waﬂﬁwm%ﬁﬁwﬂmﬁﬂmﬁmﬁﬁmﬂﬁ
e (3Te)

(@) T T - T P - Fifbors DRl I TR s IR
wgEr (r)

Which of the following element pheysan Lg'mnri-ant r{}]E in hlﬂlﬂgicaj it
fixation 7 gen

(1) Copper - (2) Molybdenum
(3) Zine . (4) Calcium
W TR Rl § SO Tyl e e @ 2
1y = - - @ Hiferdm
(@) = (4) ST
(29)

PTG
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103.  Which of the following pairs is correctly matched ?

104.

(1} Ribosomal RNA — carries amino acid to the site of protein synthesis
(2) Transcription — process by which proteins are synthesized
(3) Translation -+ process by which mRNA synthesis takes place

(4) Anti codon — site of tRNA molecule that contains complementary bases to
the triple code on the mRNA

e & @ e gue wEt e F gifen 2 7

(1) TEERTRG ¥Ro To Yo — HICH FENT 5 Terr ¥ QAT it Y
2) SO ([ETRTeR) — SR Sed gRT WIEH B ST @ 8

(3) TUHARTRY (FUraRen) > FW AREAT gRT mRNA F7 Heeivs a8 8

(4) vfd vEE (CEmTEE) > SROT tRNA @ A9 @1 98 W ofEl TE AR d.
TivaiEs mRNA « yRaw (ft mge) e €

In a typical complete, bisexual and hypogynous flower, the arrangement of
floral whotls on the thalamus the outermost to the innermost is -

(1} Calyx, Corolla, A;idroecimn and Gynoecium
(2f Calyx, Corolla, Gynoecium and Androecium |
(3) Gynoecium , Androecium, Corolla and Calyx
(4) Androectum, Gynoecium, Corolla and Calyx

vE e W o feh (gwafe®), smwdam g 8§ RAfts wew @ yw
frey @ BHITER QRS 9% 1ER W I W AR

(1) arere g9, @ 99 TEN. o
() e 951, T G AL G
(y . 3 < 37 T
4y i, A, T O, TETE YW

(30)
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105. Which one of the following is #ot an autoimmune disease ?

(1} Grave's disease {2) Addison's disease
{3) Rheumatoid arthiritis . (4) Insomnia

7 N Few o wwioRen O 8@ 7

(1) %@ A | @ i R

(3) rTard R (ercizs arra’ra'%ﬂ] (4) gerEmEATr
106. Hydroponicsis

(1) Cultivation of plants in pure water
{2) Growth of plants towards water
(3) Growth of plants awa ;-,'I from water
(4) Soil less clufl:i:ratiun of plant
(1) g 9 % 9 B @ o
(2} T P otw d [:(F
DRt RS
() T fd et ad e
107. Endospermic/Albuminous seeds are found in:

{1) Orchids (?) Peas (3) Beans | (4) Cereals
Q@Wﬁﬁfﬁa@ﬁﬂﬂ St TraT e #
(1) mids 4 () wex¥ (3 eme (4) apma 3
108. Thesmallest livir_u._g_ cells with cell wall, capéb‘Ie of gn‘;',,,;.fil and division are -
(1) viroids U (2) danakasia,
(3) mollicutes (FPLO). e (4} prions

ﬁﬁﬂ@ﬂﬂmﬁlmﬁm%ﬁng:
(1} awRfTsE -42) g
3) A [PPIG} (3) Ry

(31)
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109.

110.

111.

112.

Mosquito day is celebrated on :

{1} 20th August : (2) 29th August

(3) 30th August - (4) 14th August

Ager ey ey uﬂrtl% :

(1) 203 & (2} 29 3= @I

(3) 30 3T @ (4) 14395 7
Fermentation to produce alcohol by Yeast (Saccharomyces) is due to:
{1} Amylase {2) Invertase

(3) Zvimase (4) Galactase
.......................... @ T GNE T fvau ¥ URRET F e el B
(1) TR (2) TR

(3) W B (4) RS

Laboratory weed /guinea pig of pllant kingdom s :

(1) Neurpspora (2} Chara

(3} Aspergillus | (4) Peniciilium

ST SRR/ IR ST 3T gt f 7

(1) R () @

(3) TEREATH (4) Afediferm

Age of algae/the period of algae in Geological time scale is :
(1) Ordovicianera (2) Silurian era
{3} Pre-cambrian era (4) Jurassic era
g ) /AR e Aot @ SER R At @1 wre
1y SR FE | (2) RIRTT Bl
(3) ST @ - 4) R w

(32)
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113. Vascular cryptogams and botanical snakes of the plant kingdom are ?

(1) Pteridophytes f (2) Tracheophytes

(3) Angiosperms | (4) Spermatophytes
e el SR ey W @1 A | # 2

(1) <R @) wfearoEcH

(3) amgerdef, (i) (@) TR

114, Secondary growth and lateral roots are found in which part of root ?

(1) Calyptraregion (2) Root hair zone

(3) Zone of mature cell @) Zone of elongation
Sl & R o ¥ e o oft e ol & 7

(1) Pfemgr &= ; (2) Heem &%

(3) uRuass @ &7 (4) Sratewo @) &

115.  In Kranz anatomy, the bundle sheath cells have :
(1} Thin walls, many intercellular spaces and no chloroplasts
(2) Thick walls no intercellular spaces and la;_ge number of chloroplasts
(3) Thin walls no intercellular spaces and severa! chloroplasts
(&) Thick wills, miny intércellinarspaces andew chloroplasts
B W v A deadiy SR # - |
(1) T Bfndt, age smRERE v AR Wﬁiﬁﬁmﬂm} FUR
(2) #re) fafert, Wmﬁﬁam@mm#ﬁm
(3) werel faferad, gﬁ!ﬁﬁﬂﬁw%ﬁﬁaﬁ?ﬁﬂsm
(4) ey PrRedl, sga SRARTEY STTwE WY GO ERAoRE

116. In plant cell which™ Urgimelle secretes pectin, hemicellujoge, T
microfibrils of cellulose to make cell wa]] ? ins and

(1) Endoplaénﬁé reticitium- | (2) Plasmamenhbyap,
(3) Dictyosome (4) Glyoxvstnes

(33)
]
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oEd @ifEe A @sen ame dfdes, efegens, AEE R egas B
wEH AT Bl WY s & o B il @ P s 7

(1) stagali wifes {2) T e
{3) fFefdemm (@) Temgalietie
117.  Streaming of the cytoplasm within some hving cells is kinown as
{1) Hemeostasis (2) Cyulasis
3y Diffusion (4) Osmoregulation
AR il & ey I¥E GO @1 WaR W FIEETEE W agd W e 8
(1) sifFaefew i) (2), SRagE-UY {Egad)
{3} farrm (4} SFERTERE (TR
V18, Which of the following is nutritionally essential amino acid for humarns ?
(1) Arginine (2) Asparlic acid
3y Glycine (4) Phenylalanine
By & @ - ami o W @ Ry o @ R 9 aaeds B 0
(1) anhdEA (2) THRiCE 3
(3) TEETHA (4 f=rsanent=

119. During photosynihesis when DGA (3-phosphoglyceric acid) is changed inio
phosphoglyceraldehyde. Which of the following reactions occur ?
(1) Oxidanon (2) Reduction
(3) Electrolysis {4) Hydrolysis

gETTEeEer o WA B GiRE 5 DGA A B.prfaRits o) aodd B
srERamieeEse ¥ e 4 | A afiiba B &7

(1) sledram (2) T
e e
(3) ﬁ@ﬁw (4) eTggIleRTH

[
20. Which of the foliowing vitamins is used in ETS (Electron Transport System) ?
1£0. ;

1) Cobalamim: (2} Thiamine (3) Riboflavin 4y Ascorbic acid
-y o T ETS (GRSl SR ) 3 s e ¢ 7

e @) A @) AR 1) et awm

(@
(34)
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121, C’ﬂfreet sequence of cellular growth stage is :
(1) Division - Differentiation - Elongation
(2) Division - Elungahnn- = Differentiation
(3) Differentiation — Division - Elongation
(4} Elongation - Differentiation — Division
ISR iay sraven &1 wat H9 2 ?
(1) fora ~ fvest — Sreffeor
@) P — Geiwen — fve
(3} fvrea - Rpmem — drdfewor
(4) Creidwe ~ e — favrem

122. The overall goal of glycolysis, Krebs cycle and the electron transport system is

the formation of ;
(1) Sugar
(2) Nucleic acid
(3) ATPin small stepwise units
(4} ATP in one large oxidation reaction

ﬁﬁﬂfﬂﬁﬂﬂﬁﬁﬁﬂﬁﬁﬁﬁﬂﬁi“ﬁﬁ??ﬂﬂﬁ“fﬁﬁﬁ?ﬁ&%ﬂﬁ
Gl

(1) waw
(2) T
(3) ATPBIE) 3334 & H9 §
(4) ATPTeg ©9 ¥ STdiee R &
123. In plant ¢ells, the number of Golgi bodies increases during :

{1) Food synthesis | *{2) Cell division
(3) Translocation - i (4) Respiration
T SRRl % M W R ey B o e
(1) TR (2) S favwmm
. (3), WIFTERT (@) v
(35)
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124.  Which of the following hormone is similar to animal steroidal hormone ?

(1) Auxin (2} Gibberellin
(3) Ethylene | (4) Cytokinin
=i 3 & B ¢ @ 8 Rvged § WA T # 2
(1) e (2) formfer
(3) verrgfert (4) WECETER
125. Which of the fullowing type is a rapid type of absorption ?
(1) Active absorption {2) Passive absorption
(3) ‘Continuous absorption (4) Pulsating absorption -
% FHW TR GRT TER # e § 7
(1) emers () g (2} oS (URE) @Y
(3) Feem saengor : (4) e srawas

126, Which of the following is correctly arranged order of taxa in term of their
increasing species number ?

(1) Orthopoda > Mollusca > Protozoa > Fishes

(2) Orthopada = Protozoa > Mollusca = Fishes

(3) Orthopoda > Mollusca > Fishes > Protozoa

{4} Mollusca > Orthopoda > Prolozoa > Fishes

gwfendi @ e # e @ Wy § fafalea ¥ e o wE sgwn B 8 7
(1) affelarEr > TYERET > UEIRI > od!

(2) Siteitarer > TR > W > AT

(3) sielfrer > AT > T > B

{4] A 2 sttt > WS > ool

427, Maximum biodiversity of endemic amphibians in Indian sub-continent is found

in
(1) Sunder Van delta | (2) Western ghat
(3) Andaman Nigobar {\r;] North-East India

(36)
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WRAT TUHSET ¥ U1 A T e 9wy ) sl So-fafen 2
(1) =R 99 I (2) wfend ure

(3) 3feHr FeER (4) SR-I ART

The p-diversity is :

(1) The élivmity between communilies

{2) The diversity between ecosystems

(3) The diversity within population
(4) The diversity within community
p-fafdgan 2 -

(1) wyeri & dra Rt

(2) TRl o @ 49 faftre

() o B s R

(4) ey & = ffiar

The connecting link between reptile and mammal 3§ :

(1) Latimeria () Lepidosiren
(3) Seymouria (4) Ljr::aennﬁs 1 ‘
MAGLRERSLLIGE R ALk
(1) #fERRa | '_ (2) =frefine
@) o ) TP -
Emlwmt'mfﬁm_&pmﬁlg“i_ﬁ an exam le of :
(1) Macroevolution ' ﬂ(2} M@gﬂﬂ'e;ﬁluﬁnn
(3) Microevolution (4) Rﬂhﬁﬁfﬁﬁwlutjm
TR & T BT PRI ST & ¢ |
(1) Feq Ao 2L \2) A w5
(3) g e ) P R 7
\( 37)
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131.

132.

From among the following maximum biodiversily found in :

(I} Tropical region

(15) Teﬁperate Tegicn

(Il Coral reefs

(IV}Ariz zone

(V) Desert area

Choose the correet option :

(1) Fand I (2) Mand IV (3) L,IVandV  (4) OnlyTl
0 ol gy &3 8 % e S e o o 2 - |

() owrgfrady &y &

(1) T a3 &

(HI) ¥ Ter A

(V)= &= A

(V) Y &= o

wet 0oe & gijd Sl _

(1) TaiR 1 @ Ry () LIVERY (4 @l

[n Whittaker's five kingdom system, characteristic features of Kingdom
Animalia among the following, are :

(I} Heterotrophic and Prokaryotic (1) Multicellular

(111) Eukaryotic {TV)Heterotrophic and Holozoic
The correct combination of feature is :

0 Lilend () LITandV () M and IV (@) Liland IV
Wﬁﬁmmﬁ.mﬁaﬁw@-wgz

B W od fHRACS (IT) S
: LI.I [}W (IV)ERFT® oo Bz
(

exipeell @1 T 7 E .
T Al @) Lutairy @) LSRN @ Luskv
(1F LT _

(38)
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"Competitive Exclusion Principle” i also known as:

(1) Dollo's Law

(3) Gause's Law

(2} Allen's Law
(4) Gloger's Rule

wrremeres siyasi figrn @) frer AW | f ST o 2

(1) <t &7 Fraw

(3) vt @1 Py

The sleep-wake cycle is regulated by :
(1) Melatonin |

(3) 5-methoxytryptamine

wiu-9% 9% Fafte e 2

(1) wremeifm gy

(3) S-rimifgemms gr

COy islargely carried in form of :
(1) Oxy-haemoglobin

(%)

(2) Ter &1
{4) @R #1 fam

(2) Catecholamine

(4) Sex steroids

{2y Mﬂmm
(4) fo w¥us g

(Z) Carbamino-haemoglobin

(4) Dissolved state in blood

9 B & OO, Fr= % w95 o Tl w2
(1) ST P () ST
(3) HCO, - ¥ | (@) T 7 TR s
Electrolytes are impermegble in :
(1} PCT | | o) D&%;n?ﬂ;;ol;p ¥ _—
(3) Ascending loop of Henle™ @ Der :
ey wvmea spimm #- |

" (1) PCT & @) ¥ @ Gi'q’ﬁgﬁ' -
() R AR T & DCTH
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137. Which ane of the following is incorrect statement ?
{1) Glucagon increases blood glucose level
(2) Prolactin stimulates milk secretion
(3) Aldosterone increases blood Nat level
{4) Calcitonin increases blood calcium level
PR 3 9 Fiew e v T8 8 ?
(1) TeHTI YR AR WR FY AG 8 |
(2) vdfres g wma ®) uRa Eed g
(3) TeeRedH v Na' wR & ToTe @

(4) FofERT von Sfoway W BT 9GRI ¢

13B. A structure common to both, earthworm and cockroach is
(1) Ommatidia
(2) Tracheae

(3) Dorsal nerve cord

(4) Ventral nerve cord

(1) Gyl

@) 3 @

) e o =LA
@) e T 0 i

©(40)



1 39'

140.

17UM15/16(Set-)

Match Group-1 with Group-11 and select the correct answer :

Group-1 Group-II
A.  Amphiblastula 1. Housefly
B. Ephyra . 2. Jelly Fish
C. Redia T 3. Syoon.
D. Wriggler 4. Liver fluke
) . 5. Mosquito
(1) A3,B2,C-4, D1 (2} A-3,B-2, C-4,D-3
(3} A-2,B-3,C-4,D-1 (4) A-5,B3,C-1,D4
Tl #1 WL W o P wen wet IR 1 geme R -
-1 eIl
A, TEfERET 1. Ae)
B. IBrgq 2. O fiby
C. 3. WIEE
D. foren 4. Hiax @
5. o
(1) A-3,B-2,C-4, D] @) A3,B2,C4, D5
{3) A-2,B-3,C4 D1 : (4) A-5,B-3,C1ny
The metabolic disorder, Mkﬂptﬂnuri.:; is caused due to defecty, s enzyime -
{1.} Glucoge-6-Phesphate . (2) Phenylalanine hyabx}flase
(3} Homogentisate-1,2-dioxygenage (4} Tyrosinase
TR AR, ﬁ%ﬁmﬁ“ﬁfw#g}w«mm;
(1) @B @) R e,
(3) Emracrae-1, 2-STgdifoeg %) egifiee
(41)
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141. - Match the metabolic pathways in Group-I with the corresponding enzymes in

Group-Il :
Group-1 Group-II
P. P-oxidation 1. Ribulose bi&phtﬁﬁplﬁte carboxylase
Q. Glycolysis 2. Phosphofructokinase 1
R. Cluconeogenesis 3, Phosphoencle pyruvate carboxykinase
¢, Calvin Cyde 4. Thiolase
5. Fumarase
(1) P-4,Q2,R3,55 (2) P-3,Q-1,R-5,52
(3) P-3,Q2,R4,51 (4} P-4,Q2R351

wg-] & warTTd wt @Y wwe-1l ¥ wafm s 3 el @y

ael wae-11
i Iﬁ'-a*ﬁﬁﬂ@w 1. Rrege Crapraie R
Q. T 2 P 1
R. W 1 GrEEAT TEEIT FAESET
g i 4 fordvor
5. T
(1) P%.C‘ir?“s's'ﬁ - - @ P3QLR552
o2, R4, 51 (4) P-4,Q-2 R-3,51

(3) P ngesT the phenotype or §e1 expresfsion accur without changes in
whet .;e‘iﬁea INA sequence, the phenomenon is cailed :
n

(4) Epistasis

(42)
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WWWNWW,#WWDNAW#WW%

(1) =em (2) ot
(3) TRy (9 SRR
143, Maich the disease in Group-I with their cotresponding organism in Group-II -
| Group-1 Group-11
P.  African sleeping sickness 1. Virus
Q. Rocky mountain spotted fever 2. Trypanasoma brucei
R.  Mumps 3. Wuchereria bancrofti :
5.  Filariasis 4. Rickettsia rickettsii
3. Leishmana donovani
(M P3,Q-5,R2,81 @ P2,OLRLGA
(3) P2,Q04,R-1,83 {4) P-1,05,R-2,84
L @ I 3 ] § Wy e B o AR
-1 | TYE-11

Q. ﬁﬁmvéﬂ?ﬂézw 2. grsiaran g

R. wg 3. gRRYr SIerE
S. R L Reoefinr oz
B ST Sl
(1) P3,Q5R281 (2) P-2,Q-1, R-1, 54
{3) P-2,Q0-4,R-1,53 - 4) P-1,Q-5,R-2,54
(%) |

PT.0O,
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144,

145.

146.

147.

The direct proof of relation between genes and enzymes came from the
discovery of :

(1) Inborn errars of metabolism in human

(2) Sexual phenotype in insects |

(3) Metabolic pathways in fungi

(4} Gene regulation in bacteria
Gﬁ“ﬂﬂﬁ:ﬁﬁffﬂaﬂvaﬁmﬁaﬁﬁmw1ﬁﬂﬁ G v o M) e 2
(1) = & gy A TR He]

(2) @vel A 4 HATTEd

() was ¥ FATTET A

(1) ¥R § o RfFEZE

The diploid chromosome number of an prganism is 2n = 14. What would be the
expected chromosome numbers in a nullisomic 7
wuﬁﬁaﬁﬁmﬁmmﬁﬁqmmzm%ﬁmﬁwﬁﬁmq

@ W B Y

(b 1z (2) 13 (3) 15 (4) 16
Which one of the following is free living photosyn thetic nitrogen fixer ?
(1) Frankia (2) Clostridium

(3) Rhodospirillum (4) Rhizobium

o # 9 B B-ferd FrAferEs sge TRR & 7

(1) wfd ' (2) FERLIETH

() JratRuie™ (4) Rtifaem

In allopatric mode of speciation, a new species forms due to ;
(1) (;eographical isolation
(2) Genetic drift

pormation of @ few fertile individuals that cannot mate with other members
f the same species living in the same geographical area

(4} The jormation of allopolyploid condition

(44)
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R B Tedfw e i ¢ TR B wRer § s
(1) Rrarfses seaee
(2) s Jre

(3 ﬁﬁﬁiﬁ?ﬁ&@mwﬁﬁmﬁmwwﬁﬁmaﬁﬁmmﬁw
weitet | wier 98 o umy

(4). geinitfereliae Févr @ e [
Consider the foliowing statement and choose the correct option :

(1) Diabetes insipidus is caused by hyper secretion of vasopressin

() Graves' disease due to hyper secretion of thyroid hormone

(LM Adrenaline also known as epinephrine

(IV) Oxytocin synthesized in posterior lobe of pituitary gland

(1) I, Il and II] are correct ; (2) 1, T and IV are correct
(3} Uand i are correct (4) All are correct
Frferfan w0 R o o Wt Rew w1 g7 D

(D) TR & 3f-HE 3 R smidier flfew o &)
m}wmﬁﬁfrﬁqfﬁéﬁ-ﬁaﬁmﬂmﬂﬂﬁmﬁr

(D) UL Y TR & ®7 % & s o 24

(V)R 9P @ AR B ¥ aifedo s 2,
(1) LI afk M wét & (LR g e -
(3) ITsie et & 4) =8 wd &
Joint between atlas and axis is : :
{1) Ball and socket joint (21.! Pivot joint
(3) Hingejoirt | (4) Angelar joint
TCorE Ud U @ A9 e g .
(1) T ey Wi e (2) de TaTge
(@) o e @) TR
(45
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150. Match Group-I with ( sroup-1l and select the correct answer :

Group-I Group-Il
A. Touch 1. Meissner's corpuscles
B. Cold 2. Ruffini's corpuscles
C. .Heat 3. Pacinian corpuscles
D). Pressure 4. Krause's corpuscles
5. Merkel's discs
(1) A-5,B-2C1,D3 (2) A-5,B3,C2, D4
(3) A-1,B-4,C-2,D-3 (4) A-1,B-2,C-5,D-3
Wil 3 -l @ W e g TR gEt SeR B g B
TE-1 -1l
A T 1. Prew Hitmel
B. ¥ 9. <l it
C. am 3. i FmN
D. @@ 4. I DO
5. #@d few
(1) A-5, B-Z,‘C—I,D-S (2) A-5;B-3,C-2,D-4
3) A-1,B-4,C2,D3 (4) A-1,B-2,C-5,D-3

(46)
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